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QUESTION 1
Which statement describes the behavior of source NAT with address shifting?
A. Source NAT with address shifting translates both the source IP address and the source port of a packet.

B. Source NAT with address shifting defines a one-to-one mapping from an original source IP address to a translated
source IP address.

C. Source NAT with address shifting can translate multiple source IP addresses to the same translated IP address.
D. Source NAT with address shifting allows inbound connections to be initiated to the static source pool IP addresses.

Correct Answer: B

QUESTION 2

What are two valid zones available on an SRX Series device? (Choose two)
A. Security zones

B. Policy zones

C. Transit zones

D. Functional zones

Correct Answer: AD

QUESTION 3

You have been tasked with performing an update to the IDP attack database.
Which three requirements are included as part of this task? (Choose three.)
A. The IDP security package must be installed after it is downloaded.

B. The device must be rebooted to complete the update.

C. The device must be connected to a network.

D. An IDP license must be installed on your device.

E. You must be logged in as the root user.

Correct Answer: ACD

QUESTION 4
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Which two statements are true when configuring security zones? (Choose two.)
A. You can assign one or more logical interfaces to a zone.

B. You can assign a logical interface to multiple zones.

C. You can assign one or more logical interfaces to a routing instance.

D. You can assign a logical interface to multiple routing instances.

Correct Answer: AC

QUESTION 5

The SRX device receives a packet and determines that it does not match an existing session. After SCREEN options
are evaluated, what is evaluated next?

A. source NAT
B. destination NAT
C. route lookup
D. zone lookup

Correct Answer: B
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